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Inputs Diagnosis

This is the third analysis taken of the three tablet products from Clipboard Tablet Company.  We analyze giving some descriptions regarding their price, costs, customers, and their growth perspectives.  Three products are X5, X6, and X7 and these are in different phases of product life cycle.  There is exploration of these products with cost volume profit method in order to develop strategy for increasing their sales in the market. In following paragraphs, there is discussion over the CVP method and its application over the products’ marketing strategy for future growth.

Cost Volume Profit method is to evaluate the contribution impact over the marketing decision because of considering price level to attract the customers.  This method provides quantum of contribution that should be earned in order to avoid the loss. It also describes the minimum level of sale quantity in order to avoid the loss situation.  It provides facility to make proper strategy to set price and targeted number of customers in order to earn profitability.  This method is able to work in all the phases of the product life cycle that are genuine for deciding price of the product (Vincent, 2009).

On the basis of analysis of default decisions made by Joe regarding no change in R&D, pricing, etc. during the period.  As X5 is in growth phase, this means the Tablet Company should be focused more than other two products regarding the marketing decision making process.  X5 is also costly as compared to X6 and X7.  Concentrating on the other two products determining the right price for the market is a much better strategy.  The market speaks more to the X6 product because it is so far from the saturation point, which makes it better to market.  The X7 also has a great market scope, this means the X7 is a good candidate when considering a solid market strategy.  The X5 and X6 are making profit margins around 16% and the X7 also provides contribution that means all three products are crucial for consideration in order to decide the overall profitability of the company (Vincent, 2009).

The X5 has profit amount of 81, 571,138 at the end of 2012.  This shows there should be an analysis taken of this product along with the other two products.  We use the CVP method deciding the price level in order to improve the volume of sales for all three products.  The price of X5, X6, and X7 is 285, 490, and 190 respectively.  The cost of X5 is more against its price, which means the profit margin is less, compared to the other two products.  It is assumed that the variable cost of X5, X6 and X7 is 200, 290, and 90.  The contribution per unit of X5, X6, and X7 is 85, 200, and 100 respectively.  It is very clear the X6 is going to make the most profit per unit sales.  

There has been discussion over the price and the variable cost of the products in order to determine the contribution.  Now in the following paragraphs, there will be exploration over the fixed costs in order to determine the required level of sales volume in the market in respect to each product.  There is also discussion over the impact of the price change and the profitability of each product.

It is assumed the fixed cost in respect to X5, X6, and X7 is 958,000, 830,000, and 750,000.  The CVP method can describe the number of units to be achieved in terms of sales in the market in order to avoid taking a loss.  The needed units in case of X5 are 11,271 that, means there should be sale of 11,271 units in order to avoid taking a loss.  The X5 is in the growth phase and it has already crossed this sale volume in 2011.  That means there is lot of opportunity to make a high profit with an increase in the sale volume (Drury, 2007).

X5 is price sensitive, which means the price, can be reduced further in order to increase the number of sales per unit while its still on the market.  The price of the product can be reduced further because of contribution margin.  There should be an increase in the sale volume in order to increase the profitability.  In 2012, 2013, 2014, and 2015, it can be expected that there will be increase in the sale volume of this product, Making a price reduction with some of the products wouldn’t be a bad idea because the life cycle gets shorter and shorter with the growing phase of each product.  The volume of sales required when talking about the X6 product is 4,150 units, which means the product is profitable which we already know because this product already achieved this volume of sales in 2011.  It is expected there will be increase in years 2012, 2013, 2014, and 2015 respectively.  There is no need to decease or increase in the price of this product because it is not price sensitive and an increase in the price will potentially send many costumers flocking to buy the competitors products (Hansen, Mowen, & Guan, 2007).

X7 needs 7,500 units to be sold in order to avoid taking a possible loss.  Achieving this amount of volume in sales should be pretty easy due to the fact this product already hit this target in 2011.  There is no expectation for this product to decrease in sales.  There is definitely no need to decrease the price of this product because there is no such attraction towards other products.  Decreasing the price wouldn’t improve their situation in the market.  Not only will we not decrease the price but also the price shouldn’t change because this product is stable in the market.  This product is still able to generate sufficient amount of profit and contribution to cover its fixed costs (Drury, 2007).

So far, we’ve discussed the required quantity of units needing to be sold in order to avoid loosing any profit.  We also talked about the impact of price change over a possible volume of sales in respect to products X5 and X6.  In next paragraphs, we will be discussing the impact of price change over the profitability in respect to each product.  This is how we develop the best suitable strategy to improve profitability for The Tablet Company.

The expected profit without any change in the price of product X5 is 330,000, 340,000, 350,000, and 360,000 in 2012, 2013, 2014, and.  This describes the price level also being beneficial for the company.  The expected profit with an increase in the price of 10 dollars, which would make the unit now 295 dollars.  The expected profit of this product is now 310,000, 315,000, 320,000, and 325,000 in 2012, 2013, 2014, and 2015.  This shows that raising the price was not a smart decision as the profit has now dropped on this given product.  The projected profit was not actually the profit expected.  If we reduce the price by 10 dollars this will increase the profitability of the product as now this will generate buzz instead of raising the price of something that is already past its life cycle.  The expected profit amount in 2012, 2013, 2014, and 2015 is 345,000, 365,000, 375,000, and 390,000.  This indicates there should be reduction in the price because there is increase in the profitability of the product with increases its sales volume (Vincent, 2009).

The expected profit without any change in the price of X6 is 125,000, 130000, 135,000, and 140,000 in 2012, 2013, 2014, and 2015.  The expected profit after a decrease in the price level by 5 dollars is 125,000, 130000, 135,000, and 140,000 in 2012, 2013, 2014, and 2015.  This indicates there is no impact of price reduction over the customers demand regarding this product.  The expected profit of the product after increase in the price 5 dollars is 110,000, 95,000, 90,000, and 85,000 in 2012, 2013, 2014, and 2015.  This model shows the increase in the price of this product results in a decrease in the expected profitability over four years.  There should be no change in the price because the decrease in the price of the product cannot increase the sale volume and an increase in the price can cause reduction in the sale volume.  This means a reduction in the profitability, (Drury, 2007).

In case of X7, there is no expectation of any change in the price because it provides contribution in order to avoid a possible loss.  However, on the basis of the CVP method it can be expected that the profit without any changes in pricing of the X6 product will be 75,000, 75,000, 75,000, and 75,000 in 2012, 2013, 2014, and 2015.  It is assumed the product will survive four more years in order to maintain its current sales level because of the customer’s attitude while using this product irrespective of the price and other competitor’s products, (Vincent, 2009).

On the basis of the above discussions, the strategy of the company with the assistance of CVP method should consider a price reduction in X5 and there should be no change in the price of X6 and X7.  There can be no increase in the price of X6 because it causes reduction in profitability.  The sale volume of X7 is not affected with the price change because of customer’s attitude to use the product.  Therefore, there should be a decrease in the price of X5 by 10 dollars per unit.  There should be no change in the price of X6 and X7 in order to improve the overall profitability of the company with the assistance of CVP method.
Armand Tetreault
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